Continuous Functions as the Generators of T-norms

Md. Shohel Babu¹, Dr. Abeda Sultana², Md. Abdul Alim³

¹(College of arts & Science, IUBAT-International University of Business Agriculture & Technology, Bangladesh) ²(Mathematics, Jahangirnagar University, Bangladesh) ³(Mathematics, BGMEA University of Fashion and Technology (BUFT), Bangladesh)

Abstract: T-norms are generalization of the usual two-valued logical conjunction, studied by classical logic, for fuzzy logics. T-norms are also used to construct the intersection of fuzzy sets or as a basis for aggregation operators. In probabilistic metric spaces, T-norms are used to generalize triangle inequality of ordinary metric spaces. Individual T-norms may of course frequently occur in further disciplines of mathematics, since the class contains many familiar functions. Firstly, we select some continuous function. Then we try to generate T-norms by using those functions.

Keywords: Algebraic Product T_P , Hamacher Product T_H , Lukasiewicz T_L

Introduction I.

In 1942, K. Menger introduced the concept of triangular norm generalizing the classical triangular inequality. In 1960, B. Schweizer and A. Sklar after revision of this work redefined the concept of triangular norm as an associative and commutative binary operation on which is generally accepted today. Since, the T norms have become important tools in different contexts. They play a fundamental role in probabilistic metric spaces, probabilistic norms and scalar products, multiple-valued logic, fuzzy sets theory. In the later field Tnorms are used in order to generate the 'infimum' of fuzzy sets. But apart from the applications of these functions in the fields quoted above, there in an increasing interest in their intrinsic (theoretic) study, which no doubt is going to lead to new probabilities of application.

II. **Generators of T-norms**

Proposition 2.1: The T-norm Algebraic Product T_P is defined by $T_P(x, y) = xy$ is additively generated by the function $f(x) = -\ln x$.

Proof: Let, $y = f(x) = -\ln x$ $\Rightarrow y = -\ln x$ $\Rightarrow e^{-y} = x$ $\Rightarrow x = e^{-y}$

So, we have

 $f^{(-1)}(x) = \begin{cases} e^{-x} & ; \ x \in [0, f(0)] \\ 0 & ; \ x \in [f(0), \infty] \end{cases}$

Now,

$$\begin{aligned} T_{P}(x,y) &= f^{(-1)}(f(x) + f(y)) \\ &= f^{(-1)}(-\ln x - \ln y) \\ &= f^{(-1)}(-\ln xy) \\ &= e^{-(-\ln xy)} \\ &= e^{\ln xy} \\ &= xy. \end{aligned}$$

Hence, the T-norm T_P is additively generated by the function $f(x) = -\ln x$.

Proposition 2.2: The T-norm Lukasiewicz T_L is additively generated by the function f(x) = 1 - x.

Proof: Let, y = f(x) = 1 - x \Rightarrow x = 1 - y So, we have $f^{(-1)}(x) = \begin{cases} 1 - x ; x \in [0, f(0)] \\ 0 ; x \in [f(0), \infty] \end{cases}$

Now,

$$\begin{split} T_L(x,y) &= f^{(-1)} \big(f(x) + f(y) \big) \\ &= f^{(-1)} (2 - x - y) \\ &= 1 - (2 - x - y) \quad \text{if } (2 - x - y) \epsilon[0,1] \\ &= 1 - 2 + x + y \\ &= x + y - 1. \end{split}$$

Therefore, the T-norm T_L is generated by the function f(x) = 1 - x.

Proposition 2.3: The T-norm Hamacher Product T_H is defined by $T_H(x, y) = \frac{xy}{x+y-xy}$ is additively generated by the function $f(x) = \frac{1-x}{x}$. **Proof:** Let, $y = f(x) = \frac{1-x}{x}$ $\Rightarrow y = \frac{1-x}{x}$ $\Rightarrow x = \frac{1}{y+1}$.

So, we have

$$f^{(-1)}(x) = \begin{cases} \frac{1}{x+1} & ; & x \in [0,1] \\ 0 & ; & x \in [1,\infty] \end{cases}$$

Here,

$$\begin{split} T_{H}(x,y) &= f^{(-1)}(f(x) + f(y)) \\ &= f^{(-1)}\left(\frac{1-x}{x} + \frac{1-y}{y}\right) \\ &= f^{(-1)}\left(\frac{y-xy+x-xy}{xy}\right) \\ &= f^{(-1)}\left(\frac{y+x-2xy}{xy}\right) \\ &= \frac{1}{1+\frac{x+y-2xy}{xy}} \\ &= \frac{1}{\frac{1}{\frac{xy+x+y-2xy}{xy}}} \\ &= \frac{1}{\frac{xy}{x+y-xy}}. \end{split}$$

Therefore, the T-norm Hamacher product

$$T_{\rm H}(x,y) = \frac{xy}{x+y-xy}$$

is additively generated by the function $f(x) = \frac{1-x}{x}$.

Proposition 2.4: The T-norm **Einstein Product** T_E is defined by

$$T_{\rm E}(x,y) = \frac{xy}{1 + (1 - x)(1 - y)}$$

(x) = ln^{2-x}

is additively generated by the function $f(x) = ln \frac{2-x}{x}$.

Proof: Let,
$$y = f(x) = \ln \frac{2-x}{x}$$

 $\Rightarrow y = \ln \frac{2-x}{x}$
 $\Rightarrow e^y = \frac{2-x}{x}$
 $\Rightarrow x + xe^y = 2$
 $\Rightarrow x = \frac{2}{e^{y}+1}$.
So, we have $f^{(-1)}(x) = \begin{cases} \frac{2}{e^x+1} & ; x \in [0, f(0)] \\ 0 & ; x \in [f(0), \infty] \end{cases}$

Now,

.

$$\begin{split} T_{E}(x,y) &= f^{(-1)}(f(x) + f(y)) \\ &= f^{(-1)} \left(\ln \frac{2-x}{x} + \ln \frac{2-y}{y} \right) \\ &= f^{(-1)} \left(\ln \frac{(2-x)(2-y)}{xy} \right) \\ &= \frac{2}{e^{\ln \frac{(2-x)(2-y)}{xy} + 1}} \\ &= \frac{2}{\frac{(2-x)(2-y) + xy}{xy}} \\ &= \frac{2}{\frac{2xy}{(2-x)(2-y) + xy}} \\ &= \frac{2xy}{(2-x)(2-y) + xy} \\ &= \frac{2xy}{4-2y-2x + xy + xy} \\ &= \frac{xy}{2-y-x + xy} \\ &= \frac{xy}{1+1-y-x + xy} \\ &= \frac{xy}{1+(1-x)(1-y)}. \end{split}$$

Therefore, the T-norm T_E is additively generated by the function $f(x) = ln \frac{2-x}{x}$.



Product

IV. Conclusion

In this paper, to find the different types of T-norm we have used only strictly decreasing function. The function which has no inverse we have used the definition of Pseudo-inverse. There are huge field for application of T-norm. We can apply T-norm for optimization under fuzzy constraints. There are vast field in business sectors for strategic management portfolio analysis such as growth strategy, leadership strategy, industry attractiveness, industry maturity etc.

Acknowledgements

Above all, I express all of my veneration and consecration to Almighty Allah who was made me able to finish this paper. It is a matter of great satisfaction for me to thank and appreciate to my research supervisor Dr. Abeda Sultana, Associate Professor, Department of Mathematics, Jahangirnagar University from the bottom of my heart whose extraordinary way of leading, guiding enable me to give this paper a perfect shape. Finally, I shall be less than just if I do not put on record my gratitude to my family members for their never failing support, love and blessings for all that I have accomplished in life.

References

- [1]. George J Klir, Yuan Bo, Fuzzy Sets And Fuzzy Logic, Theory And Applications, Prentice-Hall Inc. N.J. U.S.A. 1995.
- [2]. Mirko Navara(2007), "Triangular Norms And Conforms" Scholarpedia.
- [3]. Peter J Crickmore, Fuzzy Sets And System, Centre For Environmental Investigation Inc.
- [4]. Peter Vicenik, A Note On Generators Of T-Norms; Department Of Mathematics, Slovak Technical University, Radlinskeho 11, 813 68 Bratislava, Slovak Republic.
- [5]. Peter Vicenik, A Note To Construction Of T-Norms Based On Pseudo-Inverse Of Monotone Functions; Department Of Mathematics, Slovak Technical University, Radlinskeho 11, 813 68 Bratislava, Slovak Republic Received June 1998.